[TonyuuTb ypaBHeHHe NBHXKEHHS KyJHCHOro MexaHusma. Haiitu

3Ha4YeHHe yIJIOBOTO yCKOpeHHUs ¢ 1pu t = 0.

Bapuanr 1

MDz = M() — k)UJ3Z,

an = —Hw4,,

an = —VUs,,

My = 10HwMm, k£ = 13Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 9KrM2, meo = 16KT,
ms = 34Kr, m4 = 26KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A

Mp, = Mo — kws.,,

an = —pw4,,

F,, = —vus,,

Mo = 12Hwm, k£ = 12Hwmc,
v = 8kHc/m, u = 12Hmc,
I = 15KI‘M2, meo = 17TKT,
ms = 35Kr, my4 = 27KT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 02%

Bapuaur 3

MDz = M() — kwlz,

an = —Hw4,,

My = 10HwM, k£ = 14Hwmc,
w = 15Hwmc, I = TKrM?,
meo = 14Kr, ms = 32Kr,
mg = 24KTr, ms = 5K,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12cMm, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 0.4%.




Bapuant 4

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Moy = 10Hwm, k£ = 15Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 9xrm?2, mo = 16kT,
mg = 34Kr, m4 = 206KT,
Ry = 38cm, r1 = 27cM,
Rs3 = 28cwm, Ry = 20cM,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 05%

MDz = M() — k)UJ3Z,

My, = —pwa,,

My = 12Hwm, k£ = 15HMmc,
uw=11Hwme, I = 15krm?,
meo = 17Kr, ms = 35Kr,
my4 = 27KT, ms = OKT,
Ry = 38cm, r1 = 27cM,
R3 = 28cwm, Ry = 20cM,
rqy = 12¢cMm, 14 = 16¢M,
©10=14, w1, 0=05L

Bapuanr 6

MDz = M() — kwlz,

My, = —pws,,

My = 14Hwm, k£ = 12Hwmc,
w=11Hwme, I = 23Kkrm2,
meo = 18kr, m3 = 306kT,
my4 = 28KT, ms = 9KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqy = 12cMm, 14 = 17cMm,
$1,0 = 1.5, Wi,,0 = 0.2%.




Bapuant 7

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

My = 11Hwm, k£ = 14Hwmc,
v = 35Hc/m, = 13Hwme,
I = 11KI‘M2, meo = 15KT,
ms = 33KT, my4 = 25KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

Bapuanr 8

MDz = M() — kwlz,

My, = —pwa,,

an = —UVVs,,

My = 11Hwm, k£ = 13Hwmc,
v = 50Hc/m, p = 14Hwme,
I = 11K1"M2, meo = 1DKT,
ms = 33KTI, m4 = 25KT,
Ry = 36¢cmM, r1 = 25cM,
R3 = 26CM, R4 = QOCMy
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 03%

Bapuanr 9

MDz = Mo — kw1z,

M, = —pws,,

Moy = 11Hwm,k = 11Hwmc,
u = 14Hwme, I = 11K1"M2,
meo = 15kr, m3 = 33kT,
myg = 25Kr, ms = 60Kr,
Ry = 34cwm, r; = 23cmM,
Rs = 24cMm, Ry = 20cwM,
rqy = 12¢cM, 74 = 14cM,

rs = 16¢Mm,

$1,0 = 1.2, Wi,,0 = 01%




Bapuant 10

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

My = 10HwM, k£ = 13Hwmc,
v = 8kHe/m, p = 11Hwmc,
I = 7KI‘M2, meo = 17Kr,
ms = 35Kr, m4 = 27KT,
Ry = 36cmM, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 03%

Bapuant 11

MDz = M() — kwlz,

M, = —pws,,

an = —VUs,,

My = 13Hwm, k£ = 12Hwmc,
v = 40Hc/m, g = 11Hwme,
I = 19K1"M2, mo = 17Kr,
ms = 3DKr, my4 = 27KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 02%

Bapuant 12

MDz = Mo — kaz,

My, = —pwa,,

My = 10HwMm, k£ = 11Hwmc,
u=13Hwme, I = 9KrM2,
meo = 15kr, m3 = 33kT,
my4 = 2DKT, ms = 4KT,
Ry = 34cwm, r; = 23cmM,
Rs = 24cMm, Ry = 20cwM,
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 01%




Bapuant 13

MDz = Mo — kw1z,

M, = —pws.,

Moy = 14Hwm,k = 14Hwmc,
u = 10Hwmc, I = 23K1"M2,
meo = 18Kr, ms = 36Kr,
my = 28KT, ms = 8KT,
Ry = 37cwm, r; = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqe = 12cM, 14 = 17cM,

rs = 13cMm,

$1,0 = 1.5, Wi,,0 = 0.4%.

MDz = M() 7]4)14.)12,

My, = —pws,,
Moy = 13Hwm, k = 12Hwmc,
u = 11Hwmc,

I = 19KI‘M2, meo = 17TKT,
mgs = 35Kr, m4 = 27KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25cMm, Ry = 20cM,
rqs = 12¢cM, i4 = 16cM,
$1,0 = 1.4, Wi,,0 = 0.2%.

Bapuanr 15

MDz = M() — kwlz,

M, = —pws,,

Moy = 10Hwm, k£ = 15Hwmc,
w = 14Hwmce, I = TRIMZ,
mo = 14Kr, ms = 32Kr,
mg = 24Kr, ms = 4Kr,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqs = 12¢cMm, i4 = 13cM,
$1,0 = 1.1, Wi,,0 = 05%




Bapuanr 16

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

Mo = 8Hwm, k = 11Hwmc,
v = 8kHe/m, u = 13Hwmc,
I = 5KI‘M2, meo = 15KT,
mg = 33KT, m4 = 25KT,
R1 = 34cm, 1 = 23cm,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.1%.

Bapuanr 17

MDz = M() — kwlz,

My, = —pwa,,

an = —VUs,,

My = 11Hwm, k£ = 15HwMmc,
v = 25Hc/m, = 13Hwme,
I = 11K1"M2, meo = 1DKT,
ms = 33KTI, m4 = 25KT,
Ry = 38cm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cmM,
$1,0 = 1.2, Wi,,0 = 05%

MDz = Mo - kw1z,
My, = —pwa,,

My = 10HwMm,k = 15HMmc,
u = 14Hwme, I = 7KFM2,
mo = 14Kr, ms = 32KT,
my = 24Kr, ms = 4Kr,
Ry = 38cm, r; = 27cwm,
R3 = QBCM, R4 = QOCMy
rqs = 12cM, 14 = 13cM,
rs = 13cm,

$1,0 = 1.1, Wi,,0 = 05%




Bapuant 19

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

Mo = 8Hwm, k = 14Hwmc,
v = 35Hc/m, = 13Hwme,
I = 5KI‘M2, meo = 15KT,
mg = 33KT, m4 = 25KT,
Ry = 37cmM, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

Bapuanr 20

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

Mo = 11Hwm, k£ = 11Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 11K1"M2, mo = 17Kr,
ms = 3DKr, my4 = 27KT,
R1 = 34cm, 1 = 23cm,
Rs = 24cMm, Ry = 20cM,
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 01%

Bapuant 21

Mp, = Mo — kws_,

M, = —pws,,

My = 13Hwm, k£ = 12Hwmc,
u = 10Hwmc, I = 18K1"M2,
meo = 18kr, ms = 306kT,
my = 28KT, ms = TKT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqg = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 02%




Bapuant 22

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

Moy = 11Hwm, k = 14Hwmc,
v = 8kHe/m, u = 13Hwmc,
I = 11KI‘M2, meo = 1DKT,
ms = 33KT, my4 = 25KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

MDz = M() 7]4)14.)32,

My, = —pws,,
Moy = 11Hwm, k = 13Hwmc,
1 = 13Hwmc,

I = 12KI‘M2, meo = 16KT,
ms = 34Kr, m4 = 26K,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 15cm,
g017() = 1.3, ojlz,o = 03%

Bapuant 24

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVUs,,

My = 11Hwm, k£ = 15HwMmc,
v = 25Hc/m, g = 12Hwme,
I = 11K1"M2, mo = 17Kr,
ms = 3DKr, m4 = 27KT,
Ry = 38cm, r; = 27cwm,
R3 = QBCM, R4 = QOCMy
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 05%




Bapuaur 25

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

Moy = 10Hwm, k£ = 13Hwmc,
v = 15Hc/m, g = 12Hwme,
I = TxkrM?2, mo = 17kr,
ms = 35Kr, my4 = 27KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 03%

Bapuaur 26

MDz = M() — k)UJ3Z,

My, = —pwa,,

an = —VUs,,

My = 9HwMm, k = 11Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 6KFM2, meo = 16KT,
ms = 34Kr, m4 = 26KT,
R1 = 34cm, 1 = 23cm,
Rs = 24cMm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 01%

Bapuantr 27

MDz = Mo — kaz,

M, = —pws,,

My = 10HwMm, k£ = 12Hwmc,
u=12Hwmc, I = 9Kkrm2,
ms = 16Kr, ms = 34kKr,
my = 206KT, ms = 4KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 02%




Bapuanr 28

Mp, = Mo — kws.,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 12Hwmc,
v = 50Hc/m, = 13Hwme,
I = TkrM?2, mo = 15kT,
ms = 33KT, my4 = 25KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25cMm, Ry = 12cM,
$1,0 = 1.2, Wi,,0 = 02%

Bapuant 29

Mp, = Mo — kws.,,

M, = —pws,,

F,, = —vus,,

My = 11Hwm, k£ = 15HMmc,
v = 20Hc/m, g = 13Hwme,
I = 12krm2, mo = 16kT,
ms = 34Kr, m4 = 20KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cwm, Ry = 20cM,
rqs = 12¢cM, 14 = 15cM,
g017() = 1.3, ojlz,o = 05%

Bapuaur 30

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVUs,,

My = 13Hwm, k£ = 15HwMmc,
v = 10Hc/m, p = 11Hwme,
I, = 18xrm?2, mo = 18kr,
ms = 36Kr, m4 = 28KT,
Ry = 38cm, r; = 27cwm,
R3 = QBCM, R4 = QOCMy
rqa = 12cMm, 14 = 17cwm,
$1,0 = 1.5, Wi,,0 = 0.5%A




OtBeThl

T = (¢?/2)(A + Bsin? @)
A B Q €
1 11.203 | 2.041 1.512 0.112
2 17.144 1.587 | -28.409 | -1.521
3 9.190 1.754 | -10.473 | -1.000
4 11.455 1.907 | -13.610 | -1.038
5 17.527 | 5.042 | -36.306 | -2.042
6 | 25.205 | 2.389 21.130 0.766
7 | 13.259 | 16.752 | -55.467 | -2.027
8 13.138 1.456 4.415 0.303
9 | 12.907 | 2.584 33.527 2.212
10 | 9.268 1.722 | -32.383 | -2.962
11 | 21.144 | 10.699 | -12.655 | -0.404
12 | 10.907 | 3.181 -6.503 | -0.476
13 | 25.464 | 5.579 6.261 0.248
14 | 21.144 1.976 -2.992 -0.140
15 | 9.310 3.884 | -41.383 | -3.370
16 | 6.907 1.574 -18.663 | -2.256
17 | 13.383 | 18.066 | -80.608 | -2.825
18 | 9.310 3.378 | -17.607 | -1.726
19 | 7.259 3.532 | -31.218 | -3.041
20 | 13.023 | 4.867 -9.171 -0.517
21 | 20.205 | 5.394 | -58.263 | -2.279
22 | 13.259 | 3.532 | -32.301 | -1.990
23 | 14.203 1.586 -39.771 | -2.775
24 | 13.527 | 2.606 -7.833 | -0.495
25 | 9.268 2.144 | -23.884 | -2.107
26 | 7.965 1.728 -20.347 | -2.127
27 | 11.083 | 3.422 0.632 0.059
28 | 9.021 3.024 -3.140 | -0.273
29 | 14455 | 2.323 | -34.096 | -2.062
30 | 20.599 | 2.686 | -35.919 | -1.546
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